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p.54 f5IRE 1 figsn

(1,/50)[Hz]=0.02[s]
0.025,72=0.01[s]
(1,70.01)[s]=100[Hz]

1./(50 [Hz] )=0.02[s]
0.02 [s]72=0.01[s]
1,7(0.01 [s] )=100[Hz]
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p.132 FERMREMAEEZHQ) | =71 =7*(2*I—1) =7% =T7*(2*—1)

p.132 WEERIRBRREHIQ)

Cells(1, i).Value=7%i

Cells(1, i).Value=a(i)

p.135 FEFEMIERRES]

Comp=Comp+1 # AL b
() Cells(i, 4).Value=comp

comp=comp—+1 % AL 5
Cells(2, 4).Value=comp

p.142 [1/fR% - fRE5(1) Z5¥ sum |2 EHG
p.147 [9|fEsR 0=x, y=Z1D 0=x=1, 0=y=1D
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area() c=area( )
p.175 BEHIO print( @ =", z) print( @ =", c)

(%1740 EE=180.0 (E76)  EHE=750.0
var Xxyz=x*y /2; varz=x*y/2;

vara= var x=
p-177 fREHIO var b= var y=

area(a,b); var c=area( );

alert(@#E ="+ 2);

alert(@HE="_+ c);
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(TofFo EIz5Em)
area(x,y);

var z;
area( );

p-178 FH7E (p. 142) il

print(s, "1&", i, FEHICHEELFY)
(Z D TOTFISEM

print(s, 'I&", i, BBIZHEELFT)
f=f+1
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p.180 RARE (p. 142) fREH | f=0; var f=0;

7 e import random: import random
p-181 FREH break Ui HIER)

e alert(s+ 'I&" ++ i + 'BEHICHERE), alert(s+ 'l&’ + i + 'BEIZHEE),
p-182 A break; (A1)
p.194 FEEHI ® if (al>alj+ i) ® if (alj]>alj+ 1
p.208 fEZH @ while True @ while True:

p.227 FibH 61TH

vy0=v0 * math.sin(degress * math.pi/180)

vy0=v0 * math.sin(degrees * math.pi/180)

p.228 fRER] - fRER

x=v0*math.cos(degrees * math.pi/180)+x0

x=v0*math.cos(degrees * math.pi/180)*t+x0
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context.();

context.fill( );
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(@)TIEBs Dt [=+C5—$D$4] , C5
DM T=+B4*1.2] # A5,

b)) T G5 DRV T=4+1.2*H5] , H5
DM [=+G5—$1$4) ZANnD,

(@) TIX B4 DEMT T=+C4—$D$4) |
C4 DM T=+1.2*B3] # AL,
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(a)TIE B6 DL T=+C6—$DS$5), (6D
T [=+1241/124)*B5] # A5,
(b)TIE G6 DEAMT T=+1.24(1/24)*B6) |
H6 DMz T=+G5—$I$5) & Ah5,

() TIL B5 D&Mz T=+C5—$D$5) , C5 D
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¥V R5 (2 ['=COUNTIF($L$2:$L$102,
< 7&R5) — COUNTIF($L$2:$L$102,”
<"&R6) A5,

)L 8512 [=AVERAGEQ3:Q7)] # AR,

¥V R3 I [=COUNTIF($L$2:$L$102,”
< 7&Q8) — COUNTIF($L$2:$L$102,”
<"&Q2) EAND,

¥V 85 (2 [=AVERAGER3R?)| # Ah,
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